CONCEPT" \v

Side-Mounted Panels “0 SN
nvent
HOFFMAN

Hinge Side:

1. Install side-mounted panel into enclosure as shown in Figures 2 and 3.

2. Torque M8 hex flanged nuts to 7.7 ft-lbs (21 Nm) and M5 pan head screws to 22.5 in-lbs (2.5 Nm).

Latch Side:

1. Using center punch locations on the enclosure body flange, drill four (4) .203 inch diameter holes.

2. Install the hinge mounting brackets as shown in Figure 1. Torque M4 pan head screws to 22
in-Ibs (2.5 Nm).

3. Install side-mounted panel into enclosure as shown in Figure 3. Torque M8 hex flanged nuts to
7.7 ft-Ibs (21 Nm), and M5 pan head screws to 22.5 in-Ibs (2.5 Nm).

MOUNTING BRACKET

DRILL .230 INCH
/ DIAMETER HOLES

/J

M5 PAN HEAD SCREW
FIGURE 1 WITH SEALING WASHER

CONCEPT
ENCLOSURE
(ORDER
SEPARATELY)

e

N

M8 HEX .
FLANGED
NUT SEE FIGURE 1
SIDE PANEL /
FIGURE 2 A S OREW FIGURE 3
HINGE SIDE LATCH SIDE

Rev.D © 2018 Hoffman Enclosures Inc. PH 763 422 2211 + nVent.com/HOFFMAN P/N 64353001 87568821



